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A

fAM: 2=
FM: 25 - Mz QDR S(SL 22 /250 =)
t¢e: FZA=2 KNEEsizs 2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
oM s 17,670,944 18,023,734 A352,790
= 1,428,300
s 1,400,000
J| 910,521
< 2,176,222
Al 11,755,901
23 -0z QxR (222 /280 ) 5,555,170 4,266,590 1,288,580
J| 348,243
< 551,292
Al 4,655,635
sd=2 NI2sto=s &€ 3,350,230 3,162,349 187,881
J| 348,243
< 68,132
Al 2,933,855
ZEAIH FOHA & 30,000 30,000 0
307 21201 A 30,000 30,000 0
02 QIAFAAFEX 30,000 30,000 0
OZ3A=IH o3l 30,000,000& 30,000
20 HH 2 3K 18,000 18,000 0
307 gl2tol & 18,000 18,000 0
04 DIZHHALALSE E X 18,000 18,000 0
OR9sl HUHM=H (21 0S) 18,000,000& 18,000
OlS0l=2 OIEERE 22 11,744 10,744 1,000
201 LB-2E| 9,744 10,744 A 1,000
01 At 2t 2l 5,744 5,744 0
ORI ALl AIAE Y| 120,000 * 123 1,440
O=AI Xtz 198,000& * 12& 2,376
OOLESS At AIR2t2lHl 800,000& 800
O&=D 2z 50,000& = 123 600
OZFH Xtz 44,000& « 12& 528
02 2324l 4,000 5,000 A 1,000
Oz32gHl 4,000,000& 4,000
401 AIEHI L 2CHEI 2,000 0 2,000
01 A& tl 2,000 0 2,000
OOESUZ 2 A2 |RXE=>
2,000,000 2,000
Fatolz Fxgs N 34,000 0 34,000
< 17,000
Al 17,000
308 XX EHHSOIA 34,000 0 34,000
= 17,000
Al 17,000
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OH Mo Mo
fol ton

1Y

=2 NE230=s

A= ot

Clls oo RE (22 /250 s)
Pg=ly

CEH B (BH) - MBEAY - B2 ﬁlf& HD=2
oY A2E P2 3,000,000& 3,000
O23tal & AFR 22| 10,000,000& 10,000
O230l=3 2 SHOIX X 22|
3,510,000& 3,510
odgt&e|te =42 198,000& * 128 2,376
OMEE SAMI 2UE 165,000& = 12& 1,980
Osd) A2 3 U=
165,000& = 12& 1,980
O22t2 EIZWHAIAE SX22
330,000& = 12& 3,960
O&EI|tM &AL =42 10,488,000 10,488
OFANEIAS 22AH| 140,000& = 6& 840
2329 132,034 141,654 N 9,620
ORUAE BZ L HA 17,956
o RUIIA 8,978,000& = 23| 17,956
Otz Ax52 )M EH 89
2,989,000& = 23| 5,978
O2sltl=3 2 AN oYY AME2
38,500& * 12& 462
ORslts3 2 2HE 88 2|
15,000,000& 15,000
OR3llls3 2 2N FAS8H 6,638,000& 6,638
O2stl=s & dI=2 5,000,000& * 12& 60,000
O2solss 2 MAsU2 4,000,000& 4,000
O230l=3 & HAIR X 22l ] 16,000,000 16,000
Ost=225 032 HE 3l 5,000,000& 5,000
Ost=20=z2He3 ZXE 3yl
1,000, 000& 1,000
202 04| 2,500 2,800 A 300
01 2L Y| 2,500 2,800 A 300
OZ2UWodI(2atol=3 &) 2,500,000 2,500
401 Al HI L 2 THHI 29,850 85,000 A55,150
01 A& HI 29,850 85,000 A55,150
O Jtzs &2 & LED A S At
9,850,000 9,850
OS2tz 2 LBIAIEE KRIESL
20,000,000& 20,000
405 Ko SHI 33,201 40,220 AT,019
01 JtMY 2= ZF SHI 33,201 40,220 AT,019
OZ2dH& UZ2AH HMH 2 935,000& 935
OZBAHE AlAHAHE Q! 1,760,000& 1,760
OBAHZE AlHHEZ 2! 2,456,000 2,456
OAadE 8Ty 2 10,333,000& 10,333
Oa2dd A8 2¢ 1,717,000& 1,717
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e
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s
1
B
MO

5 - 4
S - BB () - HEAY - BES Ol At o %Eﬁ HRE2
ossasd 7 16,000,000 16,000
OIEN=H A& 9,000 9,000 0
307 giztol & 9,000 9,000 0
04 DIZ2tSHALALS B X 9,000 9,000 0
OHM27al 8I=0=H( =) 9,000,000& 9,000
Hot 2o M AKX & 650,000 600,000 50,000
308 MXISHMSOIA 650,000 0 650,000
1 BI)2S00sH EFAF HI 650,000 0 650,000
OHM573 24 235HA 650,000,000 650,000
=XSSHMME K& 710,832 645,382 65,450
207 A O 4| 18,000 0 18,000
01 4| 18,000 0 18,000
OZx=2sME 29 o 249
18,000,000 18,000
306 23 692,832 645,382 47,450
01 52 692,832 645,382 47,450
OZx=23ME 29 A 692,832
OEX23M 230,500,000& 230,500
o=ExX23ME 168,287,000 168,287
OLZXE2S MM 294,045,000 294,045
SHM=H XS 15,000 15,000 0
307 QI2t0| ™ 15,000 15,000 0
04 CIZ2tSHALALS B = 15,000 15,000 0
02022 sEHM =M (M S) 15,000,000& 15,000
AN EECE XS 153,934 142,904 11,030
201 et 12,058 27,040 A 14,982
01 AFR 2t 2| bl 11,648 3,400 8,248
O¢SA AFRD|D| LX2(PC,=28D1)
99,000 = 12& 1,188
OHsAa AIEE 330,0008 ~ 12€ 3,960
O 224 1,000,000 1,000
OBEE H2 AR 22
150,000 * 7% « 23| 2,100
QS 29 AR 2,000,000& 2,000
OBEH 2g9Hs 4olsg
70,000 * 10¥ = 23| 1,400
02 2224 H| 410 2,640 N 2,230
Odsal olgy 34,100&  12€ 410
301 dEtE M= 133,716 115,864 17,852
Vo= - 2EE 133,716 115,864 17,852
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A= ot
“Ols Tt E(
=2 NE230=s

fol ton

b
b

Oif M0 MO

1Y

SN SAGEA) - MRALY - BES = Hl D&
f==d X 17,000 15,000 2,000
307 21201 & 17,000 15,000 2,000
04 RIZHHALAIH 2 & 17,000 15,000 2,000
OHMersl t==sd 17,000,000& 17,000
ey X 4,500 1,600 2,900
201 Zet24l 4,500 1,600 2,900
01 AFR2t2lHl 4,500 1,600 2,900
og+NYE 2
600,000& * 33 1,800
og+HYE 2
900,000& * 33 2,700
SEU=M AKX 63,000 60,000 3,000
307 21201 & 63,000 60,000 3,000
04 RIZFHALAIH 2 & 63,000 60,000 3,000
OHM33s === 63,000,000& 63,000
NEZ3tol=e ™ X2 117,992 128,772 A 10,780
307 21201 A 117,992 128,772 A 10,780
03 2IAHMEE2HHEX 117,992 128,772 A 10,780
Ous 24l 4,140,000 4,140
Ous ezl 69,524
OMSZE oA 35,672,000 35,672
OALRIE oA 23,078,000& 23,078
o 4B = (2Y) 5,840,000 5,840
o EIXAYZ(2 4,934,000& 4,934
oglus 234l 4,800,000 4,800
ouus a2l 39,528
OMS=ZT o1 33,392,000& 33,392
cAUEE = 3,332,000& 3,332
o EIXAZ(1 2,804,000& 2,804
NEZsto=S L3R 40,000 114,000 AT4,000
& 20,000
Al 20,000
308 XM S0IH 40,000 74,000 A 34,000
< 20,000
Al 20,000
n3Jjjasotistad 2l 40,000 74,000 A 34,000
Odgus N& 40,000,000& 40,000
< 20,000
Al 20,000
AN 2t0l= At XI& 80,000 0 80,000
308 MtXIEHMSOIH 80,000 0 80,000




2N
X ZH -
L= B

el

Z M = ot
238 -0z dERE (222 /25 0=)
% (w3

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
113/ 2SoHUHSZ&EAEALS I 80,000 0 80,000
O=Zstol=cx XI& A
8,000,000& = 1008 EtX 80,000
SYERaHs2H0SH 503,900 438,800 65,100
Jl| 348,243
= 31,132
Al 124,525
307 gl2tol & 503,900 438,800 65,100
Jl| 348,243
< 31,132
Al 124,525
02 IZtE M AHE X 503,900 438,800 65,100
OSE230I2d At 503,900, 000& 503,900
J| 348,243
< 31,132
Al 124,525
Z23A=2 NI Y NJAFH 44,800 29,000 15,800
201 L2l 30,800 15,000 15,800
01 At 22l 8l 29,800 11,800 18,000
O=Zs&tol& AtR2eltl 1,000,000 1,000
OFstllzs AQHES s NAXI} =HE
XS Al 20,000,000& 20,000
OZ20=A MM BIAZ =<
150,000& = 7H =« 23| 2,100
OZsttl=d AL E2HI 2,000,000& 2,000
oAz ZHE RAES 2,000,000& 2,000
ORMotA AAIRIR AHIEAZ(nSHl)
700,000& 700
OsgasosEd g8 g 2,000,000& 2,000
02 3322l 1,000 3,200 A2,200
oAz ZHE 23234l 1,000,000 1,000
202 oddl 4,000 4,000 0
01 2 oIl 4,000 4,000 0
O=UdctI(2stol=) 4,000,000& 4,000
401 Al HI L 2T 10,000 10,000 0
01 A& HI 10,000 10,000 0
Ox8s(Z2U2Mel, HASY) & ZAHAE
(HXOIZBR) &M 2 B 10,000, 000& 10,000
SEESe €= - =4 2,196,440 1,096,241 1,100,199
< 483,160
Al 1,713,280
ESIIBAIE AR XA 10,000 10,000 0
307 21201 A 10,000 10,000 0




SHAl = o
g0z dERE (25
E=23e g= - |4

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 10,000 10,000 0
OETJIMEgns XN 10,000, 000& 10,000
2o A =4 AY 964,040 1,260 962,780
201 LBt 4,040 1,260 2,780
01 At 22l 4,040 1,260 2,780
OUEI4+T LUAHALEY 89
85,000& » 12& 1,020
Ot Al HE Adst W=s A=
370,000& * 43 1,480
ORI Al 2@ datAs Ws AHE243 (R
s4l) 70,000& * 43| 280
O=xAN 232 A FHARAS 2o+
70,0002 * 9H « 23| 1,260
207 ROl 195,000 0 195,000
01 289 195,000 0 195,000
OMUEZ+T RBTA SHWY A224Y
ot AREA 195,000, 000& 195,000
308 XXM SO0l A 300,000 0 300,000
N 3JN2SUHUe3&HAE A 300,000 0 300,000
O2 Al OlHIAY =& 300,000, 000& 300,000
401 AIEHI L 2 CHYI 465,000 0 465,000
01 A& HI 465,000 0 465,000
OUES 6798 X LA TAHEZZ HESA
(L=270m, B=7m) 460,000,000 460,000
ORstSaXg(2s0t2)T82 FAESH|
5,000,000& 5,000
A K& 251,992 210,973 41,019
307 21201 A 221,992 180,973 41,019
02 QB AANFEE 35,800 39,500 A 3,700
O&EAY 2stdl=n= 5,800,000 5,800
Ogl2stlllzsns 30,000,000& 30,000
03 QIAHMNHE2IHIEE 186,192 141,473 44,719
O&xx==2std 24| 20,000,000& 20,000
O=xEstd 1Al 166,192
oOMSERF 39,828,840 39,829
oZTSANLEH 32,359,560 32,360
o=FIEH 27,267, 120& 27,268
o8& 21,024,720 21,025
04HEHE = (4Y) 13,223,760& 13,224
o EIAXEZ(4Y) 10,040, 020& 10,041
oXW2ZRE(4Y) 8,644,800 8,645
o MHUZAIHI(4Y) 6,720,000 6,720




2N
X ZH -
L= B

el

Z M = ot
238 -0z dERE (222 /25 0=)
SEIoe =2 - |4

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o MZEXHI(4%) 7,080,000& 7,080
308 XXM SOIA 30,000 30,000 0
M3 2SoHetE & XA EA I 30,000 30,000 0
O=x 230z ElHI(ZH==) 30,000,000& 30,000
2otTE =AY Jlgtxd 15,400 22,000 A 6,600
< 6,160
Al 9,240
307 21201 A 15,400 22,000 A 6,600
= 6,160
Al 9,240
02 It S AIHE L 15,400 22,000 A 6,600
O==x2 &3t OHLIool&E M=l
15,400, 000& 15,400
< 6,160
Al 9,240
Z2IESFNG =8 A (2 AN (HEAY) 750,000 750,000 0
< 435,000
Al 315,000
308 XX EHH SOl A 750,000 750,000 0
= 435,000
Al 315,000
11 3J2SoHUHSI S EAE ALS I 750,000 750,000 0
O&x 28T A ZEALE 750,000,000& 750,000
< 435,000
Al 315,000
Ng=2s3 AASESKE 59,500 31,500 28,000
307 glz2tol & 59,500 31,500 28,000
02 IZHE M AHE L 59,500 31,500 28,000
OXNg=2sa Nd s8AMd 59,500,000& 59,500
ANLEsHd 29 245t 84,000 20,000 64,000
= 42,000
Al 42,000
307 glz2+ol & 84,000 20,000 64,000
< 42,000
Al 42,000
02 YAFHAANFEE 84,000 20,000 64,000
O=stAlletn s 2% 64,000,000 64,000
< 32,000
Al 32,000
OXNgZstd AEe 29 20,000,000& 20,000
< 10,000
Al 10,000
SEAA E=Z ALY 61,508 44,508 17,000
307 glz2tol & 61,508 44,508 17,000




fAM: 2=
FM: 25 - Mz QDR S(SL 22 /250 =)
Sl BESO 2B - B4 (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 61,508 44,508 17,000
OZ&eU=M==H &It XA 21,808,000& 21,808
O&x= TABHEA JIEAMS 22,400,000 22,400
Oxx =sctel B dsAY 10,000, 000& 10,000
OSEA CHLHA &2t 7,300,000 7,300
NE ZQAH dRFX(2SMS L) 8,500 8,000 500
ANEANM d2F=X(Z2E)(ZSHSH) 4,000 4,000 0
203 ¥ S =&l 4,000 4,000 0
03 Al =AY R =& 4,000 4,000 0
OANBAH LR2FA(SS) 4,000,000 4,000
AHANY HR2FI(2M) (2 M=) 4,500 4,000 500
203 YR =&l 4,500 4,000 500
03 AIMZ=XH 2= H| 4,500 4,000 500
OANBAH HR2FX(2AM) 4,500,000& 4,500
AMNISRA BE - SJA(2L2H/23HM) 3,023,939 2,030,614 993, 325
= 1,428,300
J| 79,266
< 612,694
Al 903,679
oM 2& - 2el 3,023,939 2,030,614 993, 325
= 1,428,300
J| 79,266
= 612,694
Al 903,679
HEES 23 ASIA 70,000 138,000 A 68,000
< 28,000
Al 42,000
401 Al HIZ 201 I 70,000 138,000 A 68,000
< 28,000
Al 42,000
01 A& HI 70,000 138,000 A 68,000
Ozl FLA=s 70,000,000& 70,000
< 28,000
Al 42,000
2IXNE 23 L SEL23MN B3 NA(E2%s 10,000 10,000 0
AL BSAY)
= 7,000
< 1,500
Al 1,500
401 Al HI K 201 I 10,000 10,000 0
= 7,000
< 1,500
Al 1,500
01 A& HI 10,000 10,000 0




EX: S3Hs
I AANSJRA BEE -2 /235 )
R 23 & - 2el (2 &HH)
= - 4 14
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
O&EASAULSR BESAIY 10,000,000& 10,000
= 7,000
= 1,500
Al 1,500
2INXNEESM € SSE=SsHM MYl KR (= 250,000 250,000
XAdES XM HMH|ZAH)
= 175,000
== 37,500
Al 37,500
401 AIEHIZL 2 0HY| 250,000 250,000
= 175,000
= 37,500
Al 37,500
01 Al&H| 250,000 250,000
OXUdsSHAE AIH 250,000,000& 250,000
= 175,000
= 37,500
Al 37,500
2NN E 2 & =2 FIH 223 H| K& (AEA 20,000 20,000
22teH)
= 14,000
o 3,000
Al 3,000
401 AlEHIZL 201 Y| 20,000 20,000
= 14,000
& 3,000
Al 3,000
01 Al&H| 20,000 20,000
OXEAN 2&EH 20,000,000 20,000
= 14,000
= 3,000
Al 3,000
2N E2EMM L S225H M E4EHl XN (AEA ,342,000 342,000
H9 Y HAY 2|2y
= 939,400
== 201,300
Al 201,300
402 BI2H X 20| M ,342,000 342,000
= 939,400
= 201,300
Al 201,300
02 QIZ2I X2 AMSEXZ (0l &N ,342,000 342,000
OMEA M9 L BAY 2|22
1,342,000,000& ,342,000
= 939,400
= 201,300
Al 201,300




23 =
AANRRA BE .22 (235 /235 )
23 2= - 22 )
5 - 4
SA BB (SH) - NRAY - B %@ﬁ 2t
2INNE2SIM £ SE2SM £=AH N ( L= 48,000 0 48,000
SA 0|™¥aldl)
= 33,600
& 7,200
Al 7,200
401 AlEHIZ 2 0HY| 48,000 0 48,000
= 33,600
= 7,200
Al 7,200
01 Al& H| 48,000 0 48,000
OxXAdSsSRA 0ldAI| 48,000,000 48,000
= 33,600
& 7,200
Al 7,200
2INNE2SM £ SE2SM 2=AHl XN (SHA 59,000 0 59,000
A AESE)
= 41,300
& 8,850
Al 8,850
401 Al HI L £ 0HHI 59,000 0 59,000
= 41,300
= 8,850
Al 8,850
01 Al& H| 59,000 0 59,000
OSEMAMNESAE B=Hel 59,000,000 59,000
= 41,300
& 8,850
Al 8,850
2ALM S S=XSAS 40,000 0 40,000
= 20,000
Al 20,000
307 2Iz2t0| A 40,000 0 40,000
o= 20,000
Al 20,000
02 QIZFE AAIRE E X 40,000 0 40,000
O=22AL M 23 &= 40,000,000 40,000
= 20,000
Al 20,000
22BN B -4 109,000 88,600 20,400
& 54,500
Al 54,500
301 et A =2 96,000 75,600 20,400
& 48,000
Al 48,000
12 JIEtE A= 96,000 75,600 20,400
O RER2MN(BTEE2sR) =2 A
85,200,000 85,200




fAM: 2=
MY AR BE - SVU(2UUYDZ/25)
& 23 EE - 2l (=& J)
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
== 42,600
Al 42,600
O REI2FM(SEMAS0) 852 XA
10,800,000& 10,800
< 5,400
Al 5,400
307 glz2tol & 13,000 13,000 0
< 6,500
Al 6,500
04 DIZHHALALSE E X 13,000 13,000 0
O RPEIAM(BEEZEE2=R) 2HEAM
9,500,000& 9,500
< 4,750
Al 4,750
O RPEIHM(BZE=AMLS0l) SHEA
3,500,000& 3,500
= 1,750
Al 1,750
2etmrs R+ 33,000 16,500 16,500
201 ¢er24| 5,000 4,500 500
01 At 2t 2l 5,000 4,500 500
OZYSLESSE AFMY HER
5,000,000& 5,000
207 51 OH £ Hl 18,000 18,000
01 2284 18,000 18,000
O=INNE2M 4 IIIE BE S
18,000, 000& 18,000
401 AIEHI L 2 0] 10,000 A 2,000
01 A& Bl 10,000 A 2,000
OFstget FANE=> 10,000, 000& 10,000
2ot 2HAIE RA2e X3 4,885 4,885
Jl| 3,419
< 440
Al 1,026
307 glz2tol & 4,885 4,885
Il 3,419
= 440
Al 1,026
02 It M AHEE 4,885 4,885
OAS AL AYAE RI 22 4,885,000 4,885
J| 3,419
< 440
Al 1,026
23 22Fdl AL (=4l) 300,000 280,000
< 120,000
Al 180,000




fAM: 2=
HFH: AMNIIARN BE - SA(SSL2Z/23M)
& 23 EE - 2l (=& J)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 300,000 0 300,000
< 120,000
Al 180,000
01 A& HI 300,000 0 300,000
OAZELIN S50 ASHY|
200,000, 000& 200,000
< 80,000
Al 120,000
Of= MM &&=+ 100,000,000& 100,000
= 40,000
Al 60,000
23N 2E - 2el NJA3H 9,720 29,520 A 19,800
201 LBt 8,220 8,520 A 300
01 At 22l 3,760 3,260 500
O=sM N2BERE =& 70,0008 = 12& 840
OFstM HINHFH =2
100,000& * 30 4 300
O=xAN SER3RE &2 AFE 3=+
g 70,000& * 8Y = 23| 1,120
O=xAN SER3RE EE2e A2 39
&It ol 500,000& 500
Ot Zst&a 2tel 1,000, 000& 1,000
02 23224l 4,460 5,260 A 800
OxgdsRE MIIR=S 80,000& = 12& 960
OBS I BRRI(FI| L ML R)
125,000& » 12&8 1,500
OsRZstas FAE+ 1,000, 000& 1,000
OEHARNYSHE HIIRS 1,000,000 1,000
202 044l 1,500 1,000 500
01 SLHOYI 1,500 1,000 500
O=3M &2l oyl 1,500, 000& 1,500
oM A FHA X X S 111,694 111,694 0
J| 55,847
< 16,754
Al 39,093
307 gl2tol & 111,694 111,694 0
J| 55,847
< 16,754
Al 39,093
02 IZtE M AHE L 111,694 111,694 0
OUSA I&HEN HEHHIF HiX
111,694,000& 111,694
Jl| 55,847
< 16,754
Al 39,093
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fAM: 2=
HFH: AMNIIARN BE - SA(SSL2Z/23M)
el B3 BE - 2el (CHe &)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oXMa F¢ 350,000& = 204 700
oEAJl P 230,000& 230
oMHIR F¢ 320,000& = 204 640
otElE ¢ 180,000& * 204 360
odH P 70,000& 70
dSAE B Fdl 382,000 0 382,000
= 191,000
< 95,500
Al 95,500
402 RI2EX=20| A 382,000 0 382,000
= 191,000
= 95,500
Al 95,500
02 LA TEALEZ(0IETHR) 382,000 0 382,000
O EA 20tY SHEIA 382,000, 000& 382,000
= 191,000
< 95,500
Al 95,500
NEZsRL s ALY 40,000 35,000 5,000
J| 20,000
< 6,000
Al 14,000
307 21201 A 40,000 35,000 5,000
J| 20,000
< 6,000
Al 14,000
02 B AAFE X 40,000 35,000 5,000
OXNYgZsatre s 40,000,000& 40,000
Jl 20,000
< 6,000
Al 14,000
Ngeds ¢ s4(2s22/H=s) 8,537,812 11,146,178 A 2,608,366
s 1,400,000
J| 483,012
= 1,012,236
Al 5,642,564
HdEHssE 1,399,800 1,425,134 A25,334
ANELEE (SY) 2 311,237 341,010 AN29,773
201 Let24d] 12,340 7,600 4,740
01 At 22l 500 4,000 A 3,500
Os4&E =4 =2l 500,000& 500
02 =224l 11,840 3,600 8,240
OS4SR S8x5A0I0A82E) 3322
320,000& = 12& 3,840




D 2SH=E

NLHSTE L SH(SHLBH/HS)
HeHsss

A== S9(3H) - NEAY - BaS ﬁlf& HD=2
O4E =A(HX0IHE) 2222
4,000,000 4,000
O=4&E NHF2HH| 4.,000,000& 4,000
202 04| 1,000 1,000 0
01 2LHHI 1,000 1,000 0
O=ZWodl (A S0HAHE) 1,000,000& 1,000
301 dBtE A =2 297,897 332,410 N 34,513
VU= - 22242 297,897 332,410 AN 34,513
OSAE ZUHHSE & ItH|
300,000 * 4Y = 43| 4,800
O=4aE 2HUS &ty 10,000,000 10,000
OR4ME 23 21 H| 9,000
oE= 200,000 = 4% 800
o 2 Xt 50,000& * 49 200
o gst= 300,000& * 49 1,200
oAIO0I3a 400,000 = 34 1,200
o= 200,000 * 4Y = 23| 1,600
oRLUE 200,000 * 49 * 23| 1,600
odF 800,000 800
o EdoIY=(sH) 200,000& * 49 800
o Edlold = (atH) 200,000& = 4H 800
OFME 4822 =2 3,000,000& * 23] 6,000
OF4&E AJdAWS=H| 3,000,000& 3,000
OF4ME 6 A4 15,000,000 15,000
O=4&E 29| 4,000,000& 4,000
OFME oA 223,057
o020 (2 X 4,271,000 = 12&€ 51,252
030 (&) 3,000,000& * 39" = 128 108,000
o IE4+¢ 100,000& * 29 x 12& 2,400
o=JIE d2xE 500,000& = 12& 6,000
o @EZItH| 13,271,000& * 60% * 23] 15,926
I RUYBEHEEHZ
13,271,000 * 7% = 11.52% = 12& 1,285
odz2=Y 13,271,000& * 25% * 23| 6,636
odIAY I3 50,000& * 2% x 12& 1,200
o Z3MUZ A 140,0008 * 49 x 128 6,720
oEAE(ZA) 150,000& = 128 1,800
oEdLg (%) 120,000& » 3Y¥ x 128 4,320
o4l EE= 159,252,000& * 11% 17,518
O=4ag MAZ&H| 80,000 » 4% x 30 9,600
OFSME Z&| 21,000& » 48 « 1602 13,440
NEAME(IHr) 2 420,426 436,899 116,473




SN =
S gHSEE 2
=

el

X ZH
S =

Z M = ot
&

H
0x
M0
ton
He
s
3]
~
é
A

(=

=
=o

N

H2H=

SA-EB B (BH) - MRAY - B il
201 Bt A | 16,620 9,000
01 AP 2t 2l Yl 2,720 4,600
ONFEIHE 24D gtz
60,000& * 12& 720
Ol 8 REHEE Q12| 250,000& * 63 1,500
OJt+g =4 %2l 500,000& 500
02 3524l 13,900 4,400
OI+=8 2EHEE £2/4| 1,500,000& 1,500
OIIsE =4 2222 4,000,000 4,000
OI+8 29| 4,000,000& 4,000
O+ ER2Y =322 4,400
02HEE KM 100,000& * 103/ 1,000
0IIEEIHE AdtE+==22 80,0008 * 12& 960
0IIEZINHE HMIRB 120,000& = 128 1,440
0 It &EIE RFEHI 200,000& * 5& 1,000
202 04| 1,000 1,000
01 2LHOHI 1,000 1,000
OZ2UHubd(Ms&E0tAHE) 1,000,000& 1,000
301 dEtE M= 402,806 426,899
o=t - 2sESEA2 402,806 426,899
OJt=g 23l 2|
300,000 * 6Y = 43| 7,200
OJt=8 = MU3 &It 10,000, 000& 10,000
OIts+8 =23 74l 12,000
oY= 200,000& * 69 1,200
o 2 X+ 50,000& * 69 300
o gst=s 300,000& * 69 1,800
o A Ol3tbt 150,000& * 24 300
o= 200,000& * 69 1,200
oRsLUE 200,000 * 6Y = 23| 2,400
o EdlolYd=(sH) 200,000& = 6Y 1,200
o Edlold=(atAH) 200,000& * 64 1,200
oHZ 800,000& = 34 2,400
OJt+8 4822 Ed3 3,000,000& * 23] 6,000
OJt+8 282+ AJ24] 5,000,000 5,000
Ot 8 29| 4,000,000& 4,000
OJts=g oAyl 327,946
030 (ZXl) 4,435,000& * 12& 53,220
030 (=) 3,000,000& * 5H * 128 180,000
otEx=Y 120,000& = 12& 1,440
o=JlE AgE 500,000& * 12& 6,000




2N 2HMSH
b

HH: JYHSTIE 2 4 (2L /A=)
©9l: HENSSY (29l 8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
o HE& S0yl 19,435,000 * 60% * 23] 23,322
oFIQYRERLS
19,435,000& * 7% * 11.52% x 12& 1,881
ocodza=a=Y 19,435,000& * 40% * 23] 15,548
odz2a+¢ Jrarz 50,000 » 3H x 12& 1,800
o M=z A 140,000& » 69 = 12& 10,080
oBHMLE(2X) 150,000& * 12& 1,800
oEEFH(HdE) 120,000& + 59 » 12& 7,200
o4l EE= 233,220,000& * 11% 25,655
OJt=8 dX=Z&dl 70,000& ~ 699 » 25 10,500
Ot 8 &l 21,000& » 69 » 1602 20,160
AEME SN 668,137 647,225 20,912
201 Bt H | 1,840 0 1,840
01 At 22l Yl 1,840 0 1,840
OxM=E g8A 29 &« XA 1,000,000& 1,000
OMSTEES 98 24
70,000& ~ 6YH * 23] 840
307 QI2t01 ™ 666,297 638,925 27,372
02 AI2tAMAIEE =X 330,300 286,500 43,800
OZ3TUXN=Ua =& XA 200,000,000& 200,000
OLJAEAEMAE =28 K& 30,000,000& 30,000
OLRAMOIAENS SH L 2
14,500,000& 14,500
QUelEMEUE &8 X 37,300,000& 37,300
Od=2M=U3z & X 100,000& * 70 7,000
Ostnis s4X& 41,500,000 41,500
B OIZAHHYPESIHIEX 318,447 329,265 A~ 10,818
OxM=3 2gl 53,211,000& 53,211
OXM=3l 2| 265,236
oJlE=2 175,687
ANR=E 3,994,440 = 128 47,934
g & 3,122,130& * 29 = 128 74,932
Sk 2,200,845& * 24 * 12& 52,821
otEx=Y 5,280,000 5,280
o2& 4,800
&2 (109 0l 4t) 200,000& = 12& 2,400
B2 (38 0l4) 100,0009 » 2% « 12& 2,400
o HE&S0HY| 17,571
cANR=2E 3,994,440& * 60% * 23| 4,794
g & 3,122,130& * 29 x 60% *» 23] 7,494
g3 2,200,8453 * 29 * 60% * 23] 5,283
o 3MUZAY| 140,000 » 128 = 59 8,400




25 2
X XH -
(== B

el

Z M = ot
NLHsg ¢ S4(2sd22/H=)
d2HE=s4

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
oA ZaEXH| 9,180
AR=E 165,000& = 128 1,980
- §& 155,000& * 29 x 12& 3,720
= 145,000& * 29 = 128 3,480
R ESESR= =] 18,410,000 18,410
o4l BEE8= 25,908, 000& 25,908
04 QI2FSH AFAFS B X 17,550 23,160 N5,610
OXL2sM H=x2H M= 9,550,000 9,550
O&2AddAH 4HA2 H=3 HEANUS
8,000,000 8,000
N =N 1,428,432 1,319,046 109, 386
Dl 327,012
[ 32,236
Al 1,069, 184
MEHSHH XS 254,600 246,500 8,100
202 04 d| 1,000 2,500 A 1,500
01 2L Y| 1,000 2,500 A 1,500
OMEsHHd s4X3 WAL
1,000, 000& 1,000
307 Q12t0| ™ 250,300 244,000 6,300
02 A2t AMAEE =X 142,000 142,000 0
OZJATMEY=RUZ =2 62,000, 000& 62,000
OLJE HEddsls &H 23,000, 000& 23,000
OZFZXIAII(HY) MEMEHE A
23,000, 000& 23,000
O =ESHIIHI|(HH) tHal =& 21,000,000 21,000
O & d=2 MEXNsUa && 13,000,000 13,000
04 QI2tSH AFAFR B X 108,300 102,000 6,300
OMEMNELA I L BATHF
3,300,000& 3,300
OSZAFI(AMSIMENS)HE KA
80,000, 000& 80,000
O AIE2 &I (1) THal =l 22,000,000 22,000
ONE0lY It RS HEH A 3,000,000 3,000
402 QI2b X 20| & 3,300 0 3,300
01 QIZEXI2AEE X (KM TH ) 3,300 0 3,300
OMEMNELE 29 22 3,300
Rl 300,000& 300
o Kt& A 300,000& = 100K 3,000
MEHsZz )d 29 20,000 20,000 0
= 10,000
Al 10,000
307 212t0| & 20,000 20,000 0




EX: S3Hs
HaM: JLHEIE L SH(23L2Z/AS)
Sl MEHSIE (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 10,000
Al 10,000
02 QIZ2IA AAIE E X 20,000 20,000 0
QM =Ewas 2 20,000,000 20,000
o= 10,000
Al 10,000
AZ2AN0E2F A 139,740 92,720 47,020
J| 97,818
=} 20,961
Al 20,961
301 et M= 139,740 0 139,740
J| 97,818
= 20,961
Al 20,961
01 AMFSIEXEE 4562 139,740 0 139,740
OA2Z=2% ol2d X 139,740,000 139,740
J| 97,818
= 20,961
Al 20,961
HEAMEBYSANEA X (B SX) 148,986 146, 160 2,826
J| 74,493
Al 74,493
307 2Iz2t0| A 148,986 146, 160 2,826
J| 74,493
Al 74,493
03 QIZI X HAESHHIEX 148,986 146, 160 2,826
OsdNMEYRXNEZX ESKH
148,986,000 148,986
J| 74,493
Al 74,493
UBIME S AN A X (BSXY) 208,578 204,624 3,954
J| 104,289
Al 104,289
307 2Iz2t0| & 208,578 204,624 3,954
Dl 104,289
Al 104,289
03 QIZEH X PHAESIHIEX 208,578 204,624 3,954
OLbtMEtNS XA SSKE 208,578,000 208,578
J| 104,289
Al 104,289
UBIMEI ST X X (S X)) (R 123,322 90, 155 33,167
307 giztol A 123,322 90, 155 33,167
03 IZIHEHESIEHIEX 123,322 90, 155 33,167
OMESXNEXN =2 103,359
oJIExY 10,320,000 10,320
o wWEH| 100,000 = 12% * 12€ 14,400




2N
X ZH -
L= B

el

a
Bi)

bl

H(Estd 2/ =)

= - 4 14
M- o9 (B H) - MEAY - B2 %Eﬁ HR=2
0 ZE(10¢ 0] &)
200,000& *~ 9¥ * 12& 21,600
o2E=E(5E 0|4 150,000 = 12& 1,800
o) ull
2,436,000 * 60% * 1224 x 23| 35,079
0 ul] 140,000 = 12 x 12&€ 20,160
g 8,614,000 8,614
O4th 11,349,000& 11,349
Ol A &t S X (E2=sXY) 88,924 87,696 1,228
J| 44 462
Al 44 462
307 212t0| & 88,924 87,696 1,228
J| 44 462
Al 44 462
DI XBEESEHIEX 88,924 87,696 1,228
OXFMAUAMENMESNELL &5 N
2,470,100& = 3% * 128 88,924
Jl 44 462
Al 44,462
OIMEMSXN A BHXI(2SXS)(XAZ=D) 22,309 50,379 A 28,070
307 2I12t0 22,309 50,379 A 28,070
03 UAHHEESAHES 22,309 50,379 N 28,070
OXMAUMEMSNEX =E 16,887
o IE4x¢ 120,000 = 2% x 12& 2,880
o W EH| 100,0008 = 2% * 12& 2,400
o254 100,000& = 12& 1,200
o @E S ItH|
2,436,000 * 60% * 2¥ x 23] 5,847
oA E 50,000& * 2% = 12&€ 1,200
o MHZ A 140,000& * 299 = 128 3,360
Ol ESESE=2=) 91,1643 * 2 x 12& 2,188
o4 B2z 134,716& * 29 = 128 3,234
Mol AZ=2AZ 0l2F XS 8,500 6,400 2,100
J| 5,950
= 1,275
Al 1,275
LEtE A 8,500 0 8,500
J| 5,950
= 1,275
Al 1,275
01 Al E & A 462 8,500 0 8,500
OZHOH =2z o3 X 8,500,000& 8,500
J| 5,950
o= 1,275
Al 1,275




2N 2HMSH
M NYHSIE U S (SVLB/AS)
chelr MEHSHE (el @2)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
FOeME s4X 413,473 374,412 39,061
202 04 4 1,000 1,000 0
01 S LHOYI 1,000 1,000 0
O EHa SF0HH 1,000, 000& 1,000
307 glztol & 408,403 373,412 34,991
02 I HAMAEE 94,000 92,000 2,000
OLEsodN=sU = 6,000,000& 6,000
OB =UH EH
33,000,000 33,000
OBEEXNMEHAMSUHZ & 5,000,000 5,000
O&Edd HAIZ ZHAHM=UH2 EX
5,000,000& 5,000
OFMAH=NAE2Y 10,000, 000& 10,000
OHMM=a =& & JHa 20,000,000 20,000
ORN42s 8=FANFUH =&
5,000,000& 5,000
Q20228 AZXE FHAMdEHSSSAUE
=4 5,000,000& 5,000
020228 =XNHMHHAMSUHE &8
5,000,000& 5,000
03 eAHHNEE2SHIEX 306,403 273,412 32,991
OZMAHM=3 2l 39,328,000 39,328
OHMAM=F2 1Al 161,328
oJdles 107,054
ANE=RE 3,825, 770& » 12& 45,910
A Bt & 3,067,800& » 12& 36,814
g 2,027,500 = 12& 24,330
oNExE 40,0008 = 3% » 128 1,440
oZ2E+=Z (10401 4) 200,000 * 12E 2,400
o HE S OtH| 10,706
MNE=E 3,825,770& = 60% * 23 4,591
AR 0+ & 3,067,800& = 60% * 22 3,682
g2 2,027,500& * 60% * 23 2,433
o dA s Al 140,000& » 3& = 12& 5,040
o MEE X 5,580
ANF=H 165,000& = 12E 1,980
AR Dt 155,000 * 128 1,860
g8 145,000 * 12 1,740
oEIXNAES 12,342,000& 12,342
o4UEE RES 16,766,000 16,766
O=JtHEXEZ X el2AH| 105,747
oJdlEs 2,950,000& = 298 * 128 70,800




SHAMl = ot
BHSIE L SH(2FLAZ/MHR)
#H=sds SEREEED
Y. B (3H) - HEAY - BES o A o SSa HDE2
0RLXNEXNSY 300,000 * 2 = 12& 7,200
o B&E FIHy|
2,950,000& * 60% » 2% * 23] 7,080
o2&+ (1g) 100,000& = 12& 1,200
oZ2&E4+&(78) 100,000& * 6& 600
o EIXNEEZ 339,164& » 2% * 12& 8,140
o4l BE&8= 446,9183 = 2 * 128 10,727
04 QIZISHALAIE B2 X 8,000 8,000 0
OLTZoHEXIorEDIthE JH =
5,000,000 5,000
Ol A0 AHOIE=ZUE =
3,000,000 3,000
402 Q12+t X2 0| & 4,070 0 4,070
01 DI XIE2AIE E X (XM THE ) 4,070 0 4,070
OANE= 29 =23 4,070
o0& EH 1,320,000& = 204 2,640
o0 2LIEH 275,000& * 2CH 550
odeiBEE 440,000 * 2CH 880
SHEAE &5 L &5 5,621,200 998 N2,705,798
1,400,000
Dl 156,000
= 980,000
Al 3,085,200
SSHSAE Itz d 149,600 ,600 A 67,000
201 Lt 2| 600 600 0
01 At 22l bl 600 600 0
OZS MM (FHENHNER) HES 600,000& 600
202 04d| 3,000 ,000 0
01 2L Yl 3,000 ,000 0
OZUHAHHI(MSAIA2t2]) 3,000,000 3,000
401 Al HIL 201 140,000 ,000 A 48,000
01 A& HI 140,000 ,000 A 48,000
O33MEAE RAZL 30,000
o JIEt MIsAA 22 30,000,000& 30,000
OsUMEAIE MRFEX ¥ B
30,000,000& 30,000
OXASHOIEESE AXELCl & LEDS Jls M
all 60,000,000 60,000
OLMEALE JsEH 20,000, 000& 20,000
405 Ko SHI 6,000 25,000 A 19,000
01 A&t = S F SHI 6,000 25,000 A 19,000




EX: S3Hs
Y NYHSTE L SH(SHLB/ASR)
Se: ZTHEAL B3 L 28 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
ONsSHOIESE eI 2
1,500,000 * 404 6,000
SZ2HSAIE &5 L 82 AJEH| 124,600 91,600 33,000
201 gBt24y| 73,000 70,000 3,000
01 AP 2t 2| H| 15,000 15,000 0
OZ2Z2H=TAIE =8K X4l 8,000,000& 8,000
OZ2Z2HSAIE 2 AR 22| 5,000,000& 5,000
OHMsSsEHAF EE & Y X 2,000,000& 2,000
02 Z2=2=24%4| 58,000 55,000 3,000
OB3HSAE B2=2 58,000
02ZANEAE HE2 3,000,000& 3,000
0B BHNFAE &ot=223 5,000,000& 5,000
0o2Z2HNESANE dEIe=2 50,000,000 50,000
307 2Iz2t0| & 51,600 21,600 30,000
05 QIZ2tR &2 51,600 21,600 30,000
OQIX&C =32& &Hl 1,800,003 = 128 21,600
OFNMMEH 2 9| 2,500,000& = 12&€ 30,000
SESEE SUREAE HH L SE=AE BELAE 220,000 0 220,000
J| 66,000
Al 154,000
401 Al HI L 2 0HHI 220,000 0 220,000
J| 66,000
Al 154,000
01 Al&H| 220,000 0 220,000
OZ2L2=H SU/AEAE U & EFA4L
H2A 220,000,000 220,000
Jl 66,000
Al 154,000
=X S22 MSAE ZHAMY 4,667,000 3,333,000 1,334,000
g 1,400,000
=} 980,000
Al 2,287,000
401 A& HI L E0HHI 4,667,000 3,333,000 1,334,000
g 1,400,000
=} 980,000
Al 2,287,000
01 Al&H| 4,667,000 3,333,000 1,334,000
SEE E22MSAE LAY
4.667,000,000& 4,667,000
= 1,400,000
= 980,000
Al 2,287,000
S22 Z2Z2MSANE TAHECZZ HE 140,000 0 140,000
401 Al HI L £ 0HHI 140,000 0 140,000




fAM: 2=
Y NYHSTE L SH(SHLB/ASR)
Se: ZTHEAL B3 L 28 CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 A& HI 140,000 0 140,000
OFEEE S3HSAE TAHEZZ HE A
H2HEA 140,000, 000& 140,000
SEZINE S2ANE E= 20,000 0 20,000
401 Al& Bl & 28I 20,000 0 20,000
01 A& Hl 20,000 0 20,000
O=z&Z WA A4 FH €AHE4
20,000,000 20,000
IFZINE WREE 3 2 d=5E JIsES 300,000 0 300,000
J| 90,000
Al 210,000
401 AIEHIZ 28I 300,000 0 300,000
J| 90,000
Al 210,000
01 A& Hl 300,000 0 300,000
OITZIE U2eY FH L 4HFIISSY
300,000,000 300,000
| 90,000
Al 210,000
SJHEHMEE 2435 88,380 75,000 13,380
HEd s4HH 29X 88,380 75,000 13,380
307 21201 A 88,380 75,000 13,380
02 LB AAFEX 88,380 75,000 13,380
OFAEEY & SR 29
15,000, 000& 15,000
OxEENEgd sS4X& 73,380,000& 73,380
AR (2L 22 /2L 228t 522,571 549,060 A 26,489
3 MsEHASX 522,571 549,060 A 26,489
Aol 2% S32 HLUAMS 9,000 9,000 0
307 21201 A 9,000 9,000 0
04 QIZFHALAIRH B & 9,000 9,000 0
OHM193 ot ZJE SsQ HUAUE
9,000,000& 9,000
dothf 2T HAYE oF2U S 30,000 30,000 0
307 21201 A 30,000 30,000 0
04 QIZFHALAIH B = 30,000 30,000 0
OHM4sl dottl 2RE A4 2E 50w
Or=2CH 3 30,000, 000& 30,000
Aotul O CH3El 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 DI2HHALALSE E X 10,000 10,000 0




2N
X ZH -
L= B

el

SHAl = o
MNsI(2std /2Lt
3t - M= ARX

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OHM163 Aol MENs L2 02U
10,000,000& 10,000
Mot M=22E HIESQIEU3 25,200 18,000 7,200
307 2Iz2t0| A 25,200 18,000 7,200
04 SIZ2HSHAAISH E & 25,200 18,000 7,200
OHM93l Hx& d=22LEUECE e
25,200,000 25,200
Aot ERU S 7,200 7,200 0]
307 212t0| & 7,200 7,200 0
04 CIZ2tSHALALS B X 7,200 7,200 0
OMB8al Agf =2Uh3l 7,200,000& 7,200
HotHll 40HAIZ2 EFUS 30,000 30,000 0
307 2Iz2to| & 30,000 30,000 0
04 SIZ2ISHAAISH E & 30,000 30,000 0
02022 Hotit AEAE S32013
30,000,000 30,000
Aot =2 S50 HLULAWUS 10,000 10,000 0
307 212t0| & 10,000 10,000 0
04 SIZ2ISHAAISH E X 10,000 10,000 0
OHM63 HAetitil =2 SSHLULAUSE
10,000,000& 10,000
NI HITAS =2 T 3 50,000 50,000 0
307 QI2t0| & 50,000 50,000 0
04 CIZ2tSHALALS B X 50,000 50,000 0
OMI173 MAHIIAFS =HT 3 50,000,000 50,000
E=x4ge H2OI2HEUS 9,000 10,000 A 1,000
307 212t0| & 9,000 10,000 A 1,000
04 SIZ2HSHAAISH E & 9,000 10,000 A 1,000
020223 x4 A2 0I2EU 3
9,000,000 9,000
=3 Moyl AEZ=x 221019 3l 24,545 0 24,545
307 QI2t0| & 24 545 0 24 545
04 CIZ2tSHALALS B X 24,545 0 24,545
OHM1al £x H2b) AZ=x Z22t01Y 43
24,545 000 24,545
XAl AILIN O A2ZUE 4,674 0 4,674
307 QI2t0| ™ 4,674 0 4.674
04 CIZ2tSHAFALS B = 4,674 0 4,674
02022 ==x=Al AILI IA3Z0 3
4,674,000 4,674




2N
X ZH -
L= B

el

Z M = ot
HANFI (2L 22/ L2 Ut
2% - A=

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ex=AN s 3t U3 30,000 30,000 0
307 gl2tol & 30,000 30,000 0
04 DIZFSHAIAIRI 2 = 30,000 30,000 0
Oxx 9835 23t 3 30,000, 000& 30,000
EXANEI E3elE0FRUS 180,000 180,000 0
307 glz2tol & 180,000 180,000 0
04 QIZFBHAIAIRI 2 = 180,000 180,000 0
OHMMal £ AEI| dI3elS0r2Ua
180,000, 000& 180,000
dsiz 2=Ua 8,660 8,660 0
307 gl2tol & 8,660 8,660 0
04 DIZFSHAIAIRI 2 = 8,660 8,660 0
OHMb55s =X+ 2EU3 8,660,000 8,660
d= 2 T MM 7X 6,000 36,000 A 30,000
201 L2l 5,000 35,000 A 30,000
01 At 22l 5,000 35,000 230,000
Od=tHal &AL 298 & XN 5,000,000& 5,000
202 odl 1,000 1,000 0
01 = LH o4 1l 1,000 1,000 0
OZUCEI (& AR XI) 1,000, 000& 1,000
HX =& (SatA) 72,000 80,000 A 8,000
307 21201 A 72,000 80,000 A 8,000
04 DIZHHALALSE E X 72,000 80,000 A 8,000
02022 sotAHEX=HA 72,000,000& 72,000
T =203 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
04 QIZFHALAIH E = 5,000 5,000 0
020223 =&t =703 5,000,000& 5,000
x-38 £+ =221 11,292 0 11,292
307 21201 A 11,292 0 11,292
04 QIZFHALAIH B = 11,292 0 11,292
020228 = -8 5+ F2ad 1
11,292,000& 11,292
HHE2LAZH (2SS ) (IIEH/IIE) 31,452 31,292 160
JlE &3l 31,452 31,292 160
JlE&l 31,452 31,292 160
201 £B-2dH| 23,752 23,092 660




EX: S3Hs
HM: H¥2HAH (2 ASI)(IIEH/IIEH
ch: JI24dd| (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AP 22| H| 22,752 22,092 660
EA2Y9 AR 22| 18,000,000 18,000
OAIR A EAD| X2
198,000 = 204 = 12& 4,752
02 2324 1,000 1,000 0
OFMSY 2229H| 1,000, 0008 1,000
202 o4 | 3,500 4,000 A 500
01 2L HI 3,500 4,000 A500
O=2U 0 H| 3,500,000& 3,500
203 € R F=&d| 4,200 4,200 0
04 EASHEIRFEH| 4,200 4,200 0
OFMSY YRF4&H| 350,000&  12& 4,200




